
 

 

Deriving Conclusions from Passage Verbal Reasoning Bank Exams Questions Pdf 

India needs higher investment in the port sector and still lags far behind the 

international ports in container traffic, though there has been considerable growth in 

this segment over the past few years. There is a need to continually benchmark 

Indian ports against the best ports worldwide and continue to engage in policy 

efforts so as to attain prices per container of port services which are the lowest in 

the world. The average turn-around time for ships docking at most of the ports in 

India has been falling for the past three years. However, pre-berthing time has been 

marginally increasing over the years. 

Question: 1 

The best port in the world is located in the United States of America.  

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in 

the passage. 

(B) if the inference is ‘probably true’ through not definitely true in the light of the facts given. 

(C) if you think the data are inadequate i.e., from the facts given you cannot say whether the 

inference is likely to be true or false. 

(D) if you think the interference is ‘probably false’ though not definitely false in the light of the 

facts given and 

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts. 

Ans: C 

There is no such mention in the passage. 

Question: 2 

Indian ports have not been graded so far on the international standard. 

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in the passage. 

(B) b. if the inference is ‘probably true’ through not definitely true in the light of the facts given. 

(C) if you think the data are inadequate i.e., from the facts given you cannot say whether the inference is 

likely to be true or false. 



 

 

(D) if you think the interference is ‘probably false’ though not definitely false in the light of the facts 

given and 

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts. 

Ans: C 

Nothing about the previous efforts in the development of Indian ports, has been mentioned in the passage. 

Question: 3 

Indian ports need considerable development to match with the best ports in the 

world. 

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in 

the passage. 

(B) if the inference is ‘probably true’ through not definitely true in the light of the facts given. 

(C) c. if you think the data are inadequate i.e., from the facts given you cannot say whether the inference 

is likely to be true or false. 

(D) if you think the interference is ‘probably false’ though not definitely false in the light of the facts 

given and 

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts. 

Ans: A 

The given inference directly follows from the statement There is a need to continually benchmark Indian 

ports against the best ports worldwide• in the passage. 

Question: 4 

Pre-berthing time is gradually decreasing over the years.  

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in 

the passage. 

(B) if the inference is ‘probably true’ through not definitely true in the light of the 

facts given. 



 

 

(C) if you think the data are inadequate i.e., from the facts given you cannot say 

whether the inference is likely to be true or false.  

(D) if you think the interference is ‘probably false’ though not definitely false in the 

light of the facts given and 

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts.  

Ans: E 

The last sentence of the passage contradicts the fact given statement. 

Question: 5 

Indian ports offer the lowest price per container as service charges.  

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in 

the passage. 

(B) if the inference is ‘probably true’ through not definitely true in the light of the 

facts given. 

(C) if you think the data are inadequate i.e., from the facts given you cannot say 

whether the inference is likely to be true or false.  

(D) if you think the interference is ‘probably false’ though not definitely false in the 

light of the facts given and 

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts.  

Ans: E 

It is mentioned in the passage that there is a need to engage in policy efforts so as to attain 

prices per container of port services which are the lowest in the world. This indicates that at 

present these services charges are not the lower. 

 

 

 

 



 

 

 


